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From Linjing

Problen -
Here we Wil use an example o shao o spedal perpespective in okaling
woth the [ine integral oj & vector Jcieu :
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IJC C. vecCtor J‘-te(at F = < 9 5 j:/‘no( the exact value CUC \(Fa[r,
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here G is o port t]c the curve u?‘-:-g‘:’s, ¥y 7o, that Joins Jcrom. AcCl, 2)
to B(-2,)).

[-—' Discussion :

() general Joea | :
we @ Shew F is conservative ot (xX.Y) F(0,0), ond then

a'PP’ﬂ the Fmda,men:t@(, Theorem ﬁ Line in;be‘j'faL JF-oly :JCCB) —-jCA).
(4

(2) general jdeaz. :
APply the general formwm jov the line integrat j a vectesy

J’-LeLaL , JF-dY = J" Forek)) - v'ee) olts
c (-7

L\ﬁ (3) Specrot perspective :

Let Ptx.3y) = an oarbityary point on the given curve C.
Yt) = a parametnc eguation of the Curve C.
Then yat) = %t0) + Y =5 = dorw) = o
S T -r=o
= 2 T LY@
26+ + 51 | X —
ASF:< 5 =2xa—.|.:,;(y)=mabti,plec3€op
250>+ Y2 ~ = _ R
o = multiple <Uc T,

= F /7)) = FLTw)



From Linjing https://linn-guo.github.io
Ij we assume there is 0. porticle mou:‘rg a.(or\t7 the Curve C JCmm A to B,
then Y') — the veloCity of this porticle ot the time
F —> bthe Jcorce in moving this particle .
J;F-dr -> the work dane by F in moving this particle -
Then , _F £ 7,“:)
> the Jcorce L the veloCity

= ’L'heworkdanelgy]:fso

In general, A;,-r the cwre C Is jiven b)) cL part of Ov he whole Circle

306,3)- x x
x‘+31=a}, @20 , a vector J—ield F=< = gex. vy )
9(”1’) )’ y

then JCF“L":O-




